rot
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S| =YX SN = = Tofzre | XS | SRS Hel e

1 | 01¥ 02¢ ZCug i 1,000 114 114,000 ENMAS SUSEXY

2 | 01¥ 04 | A2|OtC|XFQIME 277 11,000 13 143,000 | SH-NHAS of2 4 LEEE x|
3 | 01¥ 042 | Z2|OtC|XFQIMIE SO{ 2% 10,000 13 130,000 | SHMAS {24 Labk X[
4 | 01¥ 07Y ZCug e 1,000 114 114,000 SN MAS SUESEXY

5 |01 119 | =Zz|otC|RtQIME! | EEX| A 10,000 13 130,000 | SH-NHAE {24 LEbE x|
6 | 01¥ 14Y ZCug e 1,000 114 114,000 SN MAS SUESEXY

7 o1y 18 | =Zz|otC|XtQIMIE 277 11,000 13 143,000 | SHMAS {24 Labk X[
8 | 01¥ 18 | Z2|OIC|XtQIME | =2tk LA 10,000 13 130,000 | SH-NHAS of2 4 LEEE x|
9 |[o1g 21 ZCug i 1,000 114 114,000 ENMAS SUSEXY
10 | 018 25¢ | Z2|OfC|XIQIMEH  ENX|D7|&EF 11,000 13 143,000 | SH-MAS of= A e x|
11 | 01€ 252 | BZ2|OtC|XtQIME | @EoXZ 10,000 13 130,000 | SHMAS {24 Labk x|
12 | o1 28 | MUtAIS|2X|B0|3] | $HYD 3,000 56 168,000 ENNMAS SYUSEXY
13 | 02& 04 ZCug e 1,000 120 120,000 S/ MAS SYSEX Y
14 | 02¥ 04Y ZCug 2 10,000 60 600,000 EAMAS SYUSEXY
15 | 02€ 05 | ZZ|OfC|X}FQIMIE LIS 8,000 13 104,000 | SHMAS {24 Labk x|
16 | 02 052 | FA2|OtC|X}QIME HAZS 8,000 13 104,000 | SH-MAS o241 kst x|
17 | o2& 11 ZCug e 1,000 120 120,000 = HAE SYSEX|Y
18 | 02¥ 11¥ ZCHg =3z 1,000 120 120,000 EXMAS SYSEX|Y
19 | 02€ 129 | BA2|OtC|X}QIME A Z2X|LLE 9,000 13 117,000 | SH-NMAS {24 Labk x|
20 | 029 129 | = 2|OfC|AFQIMIE X217 11,000 13 143,000 | SH-MAS oj2 A Yebs x| 9
21 | 028 18Y ZCug e 1,000 120 120,000 ENMAS SYUSEX Y
22 | 02¥ 18Y ZCHg =3z 1,000 120 120,000 EXMAS SYSEX|Y
23 | 022 199 | Z2|OfC|XtOIMEl |WHo|LtE R 9,000 13 117,000 | SH-MAS of2 4 Labk x|
24 | 02€ 192 | = 2|OfC|XtQlAlE CERZE 10,000 13 130,000 | SH-MAS o241 Letxt x|
25 | 028 25¢ ZCug e 1,000 120 120,000 ENMAS SUSEXY
26 | 028 25¢ ZCug 3z 1,000 60 60,000 EXMAS SYSEX|Y
27 | 02¥ 262 | JZ|OtCIXFQIME | AR EEZ=E 10,000 13 130,000 | SH-MAS of2 4 LEbE x|
28 | 02€ 262 | AZ|OtC|XFQIMIE SKLIE 9,000 13 117,000 | SHNMAS {24 LebE X[
29 | 03¥ 01 | BA2|OtC|X}QIME A =g 12,000 13 156,000 | S7-MA5 o241 kst X @
30 | 03¥ 01Y | RA2|OtC|XFQIME [o)==N=3 9,000 13 117,000 | SHNMAS {24 LEbE x|
31 | 032 01 | F2|OtC|XtQIAMIE R ES 12,000 13 156,000 | SH-MAS of2 4 LEbE x|
32 | 038 04Y ZCug e 1,000 240 240,000 ENMAS SYUSEXY
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o | +=FYUX} SN =5 Tofzre | XS | SRS
67 | 05¥ 242 | AZ|OtC|XFQIME QHFONZL 10,000 12 120,000
68 | 05 27Y ZCug e 1,000 240 240,000 HNAS SUEE
69 | 052 312 | T2|ofC|XtOIME 2712 10,000 12 120,000
70 | 05€ 312 | F2|OtC|XtOIAMIE TN 11,000 12 132,000
71 | 06¥ 03Y ZCug i 1,000 122 122,000
72 | 06 03 ZCug | 1,000 122 122,000
73 | 06”2 072 | F2|OtC|XtQIAMIE PAPNIEESS 10,000 12 120,000
74 | 06¥ 07 | JZ|OfC|X}QIME 7Hel 10,000 12 120,000
75 | 06 10¥ ZCug i 1,000 122 122,000
76 | 062 142 | T 2|OtC|XtOIMIE AZx2 10,000 12 120,000
77 | 06% 142 | T 2|OtC|XtQIAMIE P R=1 12,000 12 144,000
78 | 06¥ 17Y ZCug e 1,000 122 122,000 HHLE 29
79 | o6 212 | =Az|ojC|xtoIME |Djaiz=y|IES 10,000 12 120,000
80 | 062 212 | T2|OtC|XtOIMIE AZ2x2 10,000 12 120,000
81 | o6&l 27¢ ZCug e 1,000 122 122,000
82 | o6& 27Y ZCug =3z 1,000 61 61,000
83 | 06¥ 282 | JZ|OICIXFQIME | ZUHERA 10,000 12 120,000
84 | 062 282 | [Z|OIC|XtOIMEl | QAOKZ 10,000 12 120,000
85 | 078 02¥ ZCug e 1,000 120 120,000
86 | 07¥ 052 | JAZ|OtC|X}QIME =% 10,000 10 100,000
87 | 07€ 052 | F2|OtC|XtQIAMIE gf7| 27| 11,000 10 110,000
88 | 072 052 | T2|OtC|XtOIME FAPNE-E= 10,000 10 100,000
89 | 07& 09Y ZCug e 1,000 120 120,000
90 | 078 09Y T3 NEL=EL 1,000 120 120,000
91 | 07€ 122 | =F2|OtC|XtQIAMIE AZxE 10,000 10 100,000
92 | 072 129 | 32|OtC|XtOIME EEFIPN| 10,000 10 100,000
93 | 078 15¢ ZCug e 1,000 120 120,000
94 | 078 15Y T3 MWE| Lt 1,000 120 120,000
95 | 072 19 | = 2|OfC|XtQlI4lE 2ojxa 10,000 10 100,000
96 | 072 192 | Z2|OtC|XtOIME [eX=I=R=1 10,000 10 100,000
97 | 078 22¥ ZCug b 1,000 120 120,000
98 | 078 22¥ ZCoHg MWE| Lt 1,000 120 120,000
99 | 078 29¢ ZCug b 1,000 120 120,000
100 | 082 022 | T2|OtC|XtoIME Heee 11,000 11 121,000




o | +=FYUX} SN s 5 Tofzre | XS | SRS Hel e

101 | 08 029 | = 2|OFC|AFQIMIE 4R L2 10,000 11 110,000 | SHMAS {24 Labk x|
102 | 08¥ 06 ZCug e 1,000 120 120,000 ENMAS SUSEX Y
103 | 08€ 09 | = 2|OfC|XtQIAlE PAPNE- RS 10,000 11 110,000 | SHMAS {24 Labk x|
104 | 08€ 09¥ | ZZ|OIC|XIQIMIE |OjE2LUXES 10,000 11 110,000 | SH-MAS of2Al Zersh x| @
105 | 08g 13Y ZCug i 1,000 120 120,000 ENMAS SUSEXY
106 | 08Y 16X | = 2|OC|XtQIAIE CHEX| 2 10,000 11 110,000 | SH-MAE of=4l ek x|
107 | 08€ 162 | T 2|OfC|XtQIME 22%| 10,000 11 110,000 | SHMAS of2 4l Labk x|
108 | 08¥ 16Q | = 2|OFC|RQIME CESFIPN| 10,000 11 110,000 | SH-MAS o241 Letxh x|
109 | 08g 20 ZCug i 1,000 120 120,000 ENMAS SUSEXY
110 | 08 232 | = 2|OfC|XtQIAlE OtsZ 2%l 10,000 11 110,000 | E7{-HAS o2 Al Ltk X2
111 | 08€ 232 | = 2|OtC|XtQIAIE = PN 10,000 11 110,000 | SH-MAS o{2 4l Labk x|
112 | 08¥ 27Y ZCug e 1,000 120 120,000 ENMAS SYUSEX Y
113 | 08¥ 309 | = 2|OFC|RIQIME =R=TETTo] 10,000 11 110,000 | SHMAS of2 4l Labkt x|
114 | 08 302 | T Z|OFC|XFQIMIE Azxzl 10,000 11 110,000 | SH-MA5 of2A ZErst X2
115 | 09g 02 ZCug e 1,000 120 120,000 ENMAS SYUSEX Y
116 | 092 202 | Z2|OtC|XtoIAMIE Hess 11,000 12 132,000 | SH-MAS o241 kst x|
117 | 09€ 202 | = 2|OtC|XtQIAMIE THQI B % 10,000 12 120,000 | SHMAS {24l Labk x|
118 | 09g 23 ZCug e 1,000 120 120,000 EAMAE SYUSEX Y
119 | 09€ 279 | = 2|OFC|RFQIME FANES=] 10,000 11 110,000 | S7H-MAS o241 Lebxt x|
120 | 09 27 | FZ|OFC|KtQIMIE FAPNE-=1 10,000 11 110,000 | SAH-MAE of= 4l bk x|
121 | 09€ 30Y ZCug e 1,000 120 120,000 ENMAS SUSEXY
122 | 10" 01Y ZCug e 1,000 120 120,000 EAMAE SUASEXY
123 | 10€ 049 | = 2|OFC|RIQIME PANE] 10,000 12 120,000 | SH-MAS of2 4l Labk x|
124 | 10€ 04 | RAZ|OFC|XtOIMIE 20123 11,000 12 132,000 | SH-XMAE of2A YebE X[
125 | 102 042 | Z2|OtC|XtQIME | @EOAZ 10,000 12 120,000 | SH-MAS of2 4l Labk x|
126 | 102 08Y ZCug e 1,000 120 120,000 EAMAE SUASEXY
127 | 102 112 | = 2|OtC|XtQIAMIE SHILIE 10,000 12 120,000 | SH-MAS of2 4l Labk x|
128 | 10 11 | ZZ|OtC|XtQIMIE BXES 10,000 12 120,000 | SH-NMAE of=Al ek x|
129 | 10€ 11 | = 2|OFC|RFQIME InEbl; 10,000 12 120,000 | SH-MAS of2 4 LEbE x|
130 | 10€ 15 ZCug e 1,000 120 120,000 ENMAS SYUSEXY
131 | 102 182 | =IZ|OtC|XtQIMEl |DjgE7|2S 9,000 12 108,000 | SH-MAS of2 4l LEbE x|
132 | 10¥ 18Y | = 2|OfC|RQIME SIS 10,000 12 120,000 | EH-MAS o2 Al LHEE X|Q
133 | 10g 22¢ ZCug b 1,000 120 120,000 ENMAS SYUSEX Y
134 | 10" 259 | = 2|OfC|RFQIME [o)==N=3 10,000 12 120,000 | SHMAS o{2 4 Lebk X[




ot | zaxt S A% 22 | mopty | xEsy| sz X 2l U 8
135 | 1094 259 | Fa|ofC|xpQIME PR 10,000 12 120,000 | EAH-MAS o2 4l Yerkt x|l
136 | 10 299 Zowg i 1,000 120 120000 | EAHMAE sYSEX|Y
137 | 10€ 299 =y ] CHE{ &EHE 2,000 60 120000 | E=AHM2AES zSEX|Y
138 | 119 012 | F2|0opC|xFQIM Ef it 9,000 12 108,000 | SH-MAS o2 Al etk x|
139 | 119 01 | Fa|ofC|xFQIME Atetct 13,000 12 156,000 | E4-MAE o2 Al ek x|
140 | 119 052 ZCws b 1,000 120 120000 | =AHHM2AS 2YASEX|Y
141 | 119 059 ZCowg opS 2l 1,000 180 180,000 | SEHMAS SUASEXY
142 | 119 052 = ] CHE{ &HE 2,000 60 120000 | =AHXM2AS 2YASEX|Y
143 | 119 082 | = a|OfC|XFQIMIE SROK| 10,000 12 120,000 | EH-MAS o2 Al Yers x|l
144 | 112 082 | Fa|ofC|xFQIME eSS 10,000 12 120,000 | SH-MAS o2 4l Lekx x|
145 | 119 11 | 2| oL XFQIM Ef Ness 10,000 13 130,000 | EAH-MAS o2 Al Yerk x|l
146 | 119 122 Zowg b 1,000 120 120000 | =AHHM2AS zYASEX|Y
147 | 11¢ 13 SKC&C ZIx21%| 10kg 60,000 60 3,600,000 | =AHMAEY ARAXXIY
148 | 119 152 |  Ra|ofC|xFQIME o 13,000 12 156,000 | EH-MAS of24A Lekst x|
149 | 119 159 | Fz|otC|xtQIMEl | QlAMEOlN| 10,000 12 120,000 | EH-MAS o2 Al Yotk x|l
150 | 119 192 Zowg i 1,000 120 120000 | ESAHMAS 2YASEX|Y
151 | 119 229 | Fa|opC|xpQIME e 12,000 12 144,000 | SH-MAS 0|24l ek x|
152 | 112 229 | =a|otCixtQIMIE el 10,000 12 120,000 | EH-MAS of2A ek x|
153 | 119 229 | Za|opC)xpQIME ZH21K] 10,000 12 120,000 | EH-MAS o2 Al Yotk x|l
154 | 119 252 Zowg i 1,000 120 120000 | EAHMAS zYASEX|Y
155 | 119 252 Zowg EXE 1,000 120 120000 | SAHMHAS sQSEXY
156 | 112 29 | Z2|ofC|RFQIMIE Hege 12,000 12 144,000 | EH-HAS o2 Al Yk x|
157 | 112 299 | = z|ofC|xFQIMIE oxEe 11,000 12 132,000 | SH-MAS o2 4l Yerx x|
158 | 129 029 Zowg i 1,000 120 120000 | SAHMAS SYSEX|Y
159 | 129 02 ZCowg =3z 1,000 120 120000 | EAxrE sg2Exy
160 | 12€ 062 | Za|OfC|XFQIMIE SROLK| 10,000 12 120,000 | EH-MAS of2 A Lekx x|
161 | 122 06 | Za|otC|xtQIME | @EojxZ 10,000 12 120,000 | EH-MAS of2 4 ek X[
162 | 129 09 Zowg i 1,000 120 120000 | SAHMAS SYSEX|Y
163 | 129 132 | Fa|ofC|xpQIME e 12,000 12 144,000 | SH-HAS of2 4 Lebx K|
164 | 122 139 | F2|ofC|RFQIMIE el 10,000 12 120,000 | EAH-MAS o2 4l Yerst x|l
165 | 129 132 |  Fa|ofC|xpQIME ZH21K] 10,000 12 120,000 | EH-MAS o2 4l Lekx x|
166 | 129 179 b=y ] i 1,000 120 120000 | SAHHAS SYSEX|Y
167 | 129 232 Zowg i 1,000 120 120000 | EHXHAS SUSEZX|Y
20144 SAEE x| A 1,238,000 9,548 | 40,039,000




